
Lace Wrap Vest 
By Mary Catherine Black 

Level: Intermediate

Sizes: Small (Medium, Large, XL, 2X)

Finished Measurements
Back Width: 17 (19, 21, 23, 25)”
Length: 16 (16½, 17, 17½, 18)”

Materials
Premier Yarns Cotton Fair (50% acrylic, 50% 
cotton; 100g/317 yds)

•	 27-04 Turquoise – 3 (4, 4, 5, 5) balls
Needles: US Size 5 (3.75 mm) straight needles or 
size needed to obtain gauge
Notions: Yarn needle

GAUGE
20 sts x 32 rows = 4” in Lace Wave St.
Save time, check your gauge.

STITCH GUIDE
Lace Wave St (multiple of 10 sts + 5)
Row 1 (RS): K1, ssk, [yo, k4, yo, k2tog, k2, ssk] to 
last 2 sts, yo, k2.
WS rows 2-12: Purl.
Row 3: K2, [yo, k2tog, k1, k2tog, yo, k1, yo, ssk, k2] 
to last 3 sts, yo, k2tog, k1.

Directions:

Row 5: K2, [k2, k2tog, yo, k3, yo, ssk, k1] to last 3 sts, k3.
Row 7: K2, [k1, k2tog, yo, k5, yo, ssk] to last 3 sts, k3.
Row 9: K1, yo, [k3tog, yo, k3, yo, k2tog, k2, yo] to last 4 sts, k3tog, yo, k1.
Row 11: K2, [yo, ssk, k2, ssk, yo, k4] to last 3 sts, yo, ssk, k1.
Rep Rows 1-12 for patt.

BACK
Cast on 85 (95, 105, 115, 125) sts. Purl 1 row. Work in Lace Wave St until Back measures 16 (16½, 17, 17½, 
18)”. Bind off all sts.

RIGHT FRONT
Work as for Back.
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LEFT FRONT
Work as for Back.

SLEEVES
Cast on 65 (75, 75, 85, 85) sts. Work in Lace Wave St until Sleeve measures 8”. Bind off all sts.

FINISHING
Sew shoulders together for 4½ (5½, 6½, 7½, 8½)”, leaving 8” unsewn for Neck.
Fold Sleeves in half, sew bind-off edge to Sides
Sew Sleeve and Side seams. 
Top Edging
Pick up and knit 170 (190, 210, 230, 250) sts along Top edge. Knit 6 rows. Bind off all sts.
Left Front Edging
Pick up and knit 84 (86, 88, 92, 94) sts along Left Front edge. Knit 6 rows. Bind off all sts.
Right Front Edging
Work as for Left Front Edging.
Weave in ends.

ABBREVIATIONS
k – knit
k2tog – knit 2 stitches together – 1 stitch decreased.
rep – repeat
RS – right side
ssk – slip next 2 sts, knitwise, place back on left hand needle, and knit both stitches through their back 
loops – 1 stitch decreased.
st(s) – stitch(es)
WS – wrong side


